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Introduction

This is a study text, specifically written to help those preparing
for the LCCIEB Second Level Book-keeping and Accounts

examination paper.

Points of principle relating to the syllabus are fully explained and
illustrated as examples in the text.You are recommended to
work carefully through each example, and not merely to read
through it.

At the end of each chapter, one or two past examination
questions from LCCIEB Second Level papers are answered and
key points explained.

At the end of the complete text, brief notes of guidance are
given on study and examination techniques.

Use the book well. Only disciplined, orderly and thorough
study leads to examination success.
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First Level revisited (1)

After carefully studying this chapter, you should be able to:

1 confidently recall principles which you studied at First Level and which
will continue to be important at Second Level;

2 answer questions of a Second Level standard which are based on aspects
of the First Level syllabus.

It is emphasised that this is a Second Level textbook. It will not deal fully with all
of the topics included at First Level. If you are preparing for the Second Level
examination without first having studied and passed the First Level examination,
you would be well advised to purchase the First Level study text and work through
it thoroughly before proceeding any further with this text.

However, the first item in the Second Level syllabus states, ‘Advanced aspects of the
First Level syllabus for Book-keeping’. Therefore, in the first two chapters of this
study text, a number of First Level syllabus topics will be revised and extended for
Second Level.

The book-keeping system

A basic book-keeping system comprises a ledger which contains accounts, and
prime entry records which act as ‘collectors’ and ‘summarisers’ of financial data. This
allows for detail to be outside the ledger so that summarised entries can be
periodically entered into ledger accounts. The prime entry records provide the
auditable authority for the summarised ledger entries. The Journal proper provides the
authority for ledger entries not covered by other prime entries. Unusually, the cash
books have developed into both prime entries and ledger records of cash payments
and receipts.

The prime entry records, other than the Jjournal proper and the cash books, have
historically been known as day books, covering sales, purchases, sales returns and
purchases returns. More commonly, they are simply called sales journal, purchases
Jjournal and so on.



Book-keeping and Accounts

When final accounts are prepared, the trading and profit and loss accounts are
indeed debit and credit accounts in their own right, conforming to normal double
entry principles.

The trial balance, which lists account balances prior to making adjustments and
preparing final accounts, is, of course, not part of the system, but a check on the
apparent accuracy of the recording system. You are reminded that there may be
errors which are not revealed by a balanced trial balance. The term ‘final accounts’ is
generally understood to mean trading and profit and loss accounts and a balance
sheet. However, you are also reminded that a balance sheet is nof an account but a
presentation of the balances remaining in the ledger at a particular moment in
time.

The influence of software accounting systems

Chapter 17 at the end of this study manual will be used to illustrate the impact of
the computer, and PCs in particular, on accounting systems. A small firm may still
use hand-written accounts with visible and traditional prime entry records, cash
books and ledger. Increasingly, however, even for small firms, transactions are
recorded in accordance with a software programme and prime entry summaries,
trial balance, final accounts, customer debt analysis and so forth are database
printouts at the end of each accounting period. What must be emphasised is that
although it may be more difficult to recognise visually, computer based accounting
systems conform to the long established book-keeping principles and to debit and credit
concepts. It is dangerous for a business to rely on a purchased software accounting
package unless the user has an understanding of the basics of book-keeping and
accounts. It is the aim of this text to provide LCCIEB students with this understanding.
This aim explains the approach taken in this study text.

The structure of an account

A ledger account has a debit side, a credit side, and provision on each side for the
entry of date, narration, account reference and amount. A balance is struck on an
account periodically, so that at any moment in time an account may be in balance,
or might have a debit balance or a credit balance. You should recall that certain
accounts are associated with debit balances, eg:

any fixed asset account, eg buildings, motor vehicles, etc

any current asset account, eg stock, debtors, prepaid expenses, etc

1
2
3 bank balance if in favour of the business
4

expenses incurred, eg rent
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Other accounts are associated with credit balances, eg:
1 any liability account, eg loan, bank overdraft, creditor, etc
2 capital account
3 any income account, eg sales, interest received, etc

In some examination questions the dates of entry may be particularly important, eg
when dealing with accruals and prepayments. This will be emphasised in the text
where relevant. Throughout this study text, ledger accounts will largely be presented
in the conventional T-account format. This is because it is considered that this
presentation provides the best basis for an understanding of book-keeping and
accounts. Nevertheless, alternative presentations will be used where appropriate. For
example, when dealing with bank reconciliations, the bank statement — as a copy of
the trader’s current account in the bank’s ledger — will be presented in the format in
which such statements are in fact received from the bank.

Balance sheet presentation

The vertical presentation of a balance sheet is preferred without reservation. The old-
fashioned two-sided balance sheet does not naturally reveal information such as
working capital, which the vertical format easily does. In addition, the less confident
student confuses the two-sided balance sheet with a T-account. The student
therefore begins to think of the left-hand side of the balance sheet as the debit side,
and then begins to think of balances being ‘written off” to the balance sheet. All this
is wrong of course. With the two-sided balance sheet the student also has to decide
which side to put the assets: on the right-hand side — traditional in the United
Kingdom until comparatively recently — or on the left-hand side — traditional in the
United States of America!

All this potential for error is avoided by preparing the balance sheet in vertical
format. Candidates in the LCCIEB examinations are recommended to prepare vertical
balance sheets, whether for sole traders, partnerships, non-trading organisations (clubs
and societies) or limited companies.

The following balance sheet format is recommended, eg for a sole trader, Paul
Cross, at 31 December Year 7. The figures used are all made up for illustration.

Paul Cross — Balance Sheet at 31 December Year 7

£ £ £
Fixed assets Cost Accumulated Net book value
depreciation
Premises 45,000 1,200 43,800
Fixtures and fittings 19,500 3,100 16,400
Motor vehicles 22,000 4,400 17,600
86,500 8,700 77,800
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Current Assets £ £
Stocks 22,680
Debtors 17,458
Bank 1,057
41,195
Current Liabilities
Creditors 19,568
Working capital 21,627
99,427
Loan from uncle
(repayable in Year 12) 20,000
79,427
Capital at Jan 1 Year 7 72,548
Profit for the year 10,459
Less drawings 3,580 6,879
79,427

As you will see in a later chapter, the terms used may change slightly, eg the term
‘current liabilities” will be replaced with ‘creditors: amounts falling due within one
year’. However, the basic structure of every balance sheet will conform to this
example.

Prime entry records for sales and purchases

Conventionally, cash sales are entered in the cash book, which provides a prime
entry record. For this reason it has been the credit sales that have been entered in
the day book or sales journal to provide the prime entry record. However, in
practice, many firms would require an invoice to be raised to cover even cash
sales. Therefore, in order to maintain the invoice number sequence, they would enter
all sales into the sales journal or day book, whether made for cash or on a credit
basis.

Any special discounts given to customers for special relationships, large quantity
purchases and so forth are deducted on the invoice, so that the net amount due from
the customer is recorded in the sales journal. Any discount which may or may not
be taken, eg a cash discount for the prompt payment of account, is not deducted at
this stage.

The listing of sales in the sales journal allows for the summary sales for an
accounting period, eg one month, to be posted to the sales account as a single
figure. The accounts of individual customers, on the other hand, must be updated
promptly because for credit control it is vital to know the balance outstanding on
any customer’s account at any time.

You must not treat prime entry records as accounts. They are not accounts, and therefore
do not have a debit and credit structure.
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EXAMPLE |

Neil Roberts is a wholesaler of electrical equipment. He sells on credit to a limited
number of customers. The discounts he offers are ‘special terms’ discounts and a cash
discount of 1% for payment within 20 days of the invoice date.

Special discount terms depend on the value of orders received from customers in
the previous financial year. Special discount categories are:

A Nil
B 5%
C 10%

During February Year 7, he made the following sales:

Customer Invoice Invoice Gross Special
date number value discount .
£
Carr & Co 3 February 13657 2,450 C
18 February 13662 900 C
N Blake 6 February 13659 1,600 A
H Bonny 17 February 13660 1,540 B
24 February 13665 1,200 B
P Rivers 22 February 13663 850 A
23 February 13664 490 A
F Singh 27 February 13666 500 A
MP Ltd 5 February 13658 1,380 B

Invoice number 13661 was spoilt.

Regquired
Prepare the sales journal for the month of February Year 7, and show the posting to
the sales account in the nominal ledger.

Solution
Sales Journal: February Year 7

Invoice no Invoice date Customer Amount
£

13657 3 February Carr & Co 2,205

13658 5 February MP Ltd _ 1,311

13659 6 February N Blake 1,600

13660 17 February H Bonny 1,463

13661 Invoice spoilt

13662 18 February Carr & Co 810

13663 22 February P Rivers 850

13664 23 February P Rivers 490

13665 24 February H Bonny 1,140

13666 27 February F Singh 500
10,369
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Sales account

£
Feb 28 Year 7 Sundries 10,369

Notes to the solution
1 The ‘special discount’ is a kind of trade discount.

2 Even if there had been ninety invoices rather than the nine, there would
still only have been one entry in the sales account for the month. This
emphasises the ‘collecting’ and ‘summarising’ purpose of prime entry
records.

3 The individual customer accounts should have been immediately debited
with the amounts due. For example, Carr & Co’s account would have been
debited with £2,205 on 3 February and with £810 later in the month.

4 Note that the amount entered in the prime entry record is net of the special
discount applicable to each customer. For examination purposes it would be
acceptable to list the gross amount and show the discount deducted. In
practice the gross and discount might appear on the invoice but need not
appear in the prime entry record. On no account should any deduction be made for
the cash discount. At the time of the sale it is not known which customers will
take advantage of this discount.

5 In the prime entry record all invoices are listed in number order. The spoilt
invoice is also listed. For audit purposes every invoice must be accounted
for.

The journal proper

This is sometimes called the main journal. It acts as an instruction and an authority to
make entries in the ledger. Although the format may not be traditional, journal
vouchers still have importance in computer-based accounting systems. The
examiner may ask for an answer to be presented in journal entry form. The format
to be adopted is as follows:

Dr Cr
£ £
Sept 30 Year 6 Bad debts account 280
P Tovey's account 280

Debt written off as irrecoverable

This auditable journal voucher (which would have its own reference number) shows
an entry which should now be entered into the system. The bad debts account
should be debited and the personal account of P Tovey should be credited. Since it is
clear that these are entries to be made in accounts in the ledger, the journal entry
would be equally acceptable as:
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£ £
Sept 30 Year 6 Bad debts 280

P Tovey 280
Debt written off as irrecoverable

Cash book adjustments and reconciliations

Of particular importance is the cash at bank record. A trader’s cash book balance at
any time indicates the level of cash availability or the extent to which he is
overdrawn. Both are important. A debit balance on the cash at bank account should
not be excessive as it is unlikely to be earning any interest. Any balance temporarily
or permanently greater than the balance required to meet obligations, should be
transferred to an interest earning account. On the other hand, if a trader has an
agreed overdraft limit on his current account he must be aware when his overdraft
limit is being approached. This is because to draw cheques which would result in the
overdraft limit being exceeded would be both expensive, and possibly embarrassing. -
Expensive, because banks make heavy charges for unauthorised overdrafts, and
embarrassing, because the bank may not honour cheques drawn on the account. For
these reasons, a cash at bank account should be promptly updated so that the current
balance is known.

Amounts credited to a trader’s current account at the bank come from:
1 Cash and cheques paid into the bank by the trader.

2 Transfers into the current account from another account at the bank, eg a
deposit account.

3 Interest added to the account by the bank (if it is an interest-bearing current
account). :

4 Direct credits made to the trader’s account by a debtor, eg in UK by the
Bankers’ Automated Clearing System (BACS).

It is important to note that the trader may not know about 3 or 4 either until he
sees them on bank statements, or in the case of 4 unless the debtor informs him of
the payment.

Amounts debited to a trader’s current account at the bank come from:
1 Cheques drawn by the trader, presented for payment by his creditors.

2 Direct payments made by the bank on the trader’s behalf. These may be
standing orders authorised by the trader, or BACS payments.

3 Direct debits, where the trader has authorised his creditors to take amounts
due from his account.

4 Charges applied by the bank. These will be bank charges for operating the
account, or interest charged when the account is overdrawn.

It is important to note that 3 and 4 may not be known to the trader until they
appear on bank statements. Item 1 will go into the trader’s cash at bank account
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when the cheque is drawn even though it may be days, weeks or longer before his
creditor presents the cheque for payment.

A bank reconciliation, as a check on the cash at bank account, is needed to deal with
these time differences and differences of awareness. It may also be needed for
detecting mistakes, whether made by the trader or his bank.

EXAMPLE 2

The cash book of Paula Kennet showed a debit balance of £5,673 on the cash at
bank account at 31 December Year 9. When she received her bank statements early
in January Year 10, the balance shown on the statement at 31 December Year 9
disagreed with this figure.

She discovered that:

1

Cheques that she had drawn, but which had not been presented for payment
by creditors by 31 December Year 9, amounted to £186.

A cheque drawn for rent, presented for payment in December, had been
entered in the cash book as £49 instead of the correct figure of £94.

A standing order for insurance, for £132, paid by the bank in November, had
not been entered in the cash book. Another standing order for a subscription,
£50, had been entered in the cash book in October. However, the bank had
paid this standing order twice. Paula Kennet has now (in January Year 10)
informed her bank of this error.

Employees’ wages are paid by BACS. However, the wages paid by the bank on
22 December Year 9, £2,212, had not been entered in the cash book.

The bank statement showed that Paula’s current account had been debited
with bank charges for operating the account, £236, and with interest £98.

An amount of £4,875, comprising cash and cheques banked on 30 December
Year 9, did not appear on the bank statement until 2 January Year 10.

Paula Kennet received £184 from a debtor directly into her bank account.
This was received in November but she was unaware of it until she noted it
on the bank statement.

Required

(@) Prepare an adjusted cash at bank account for Paula Kennet at 31 December

Year 9.

(b) Prepare a statement, commencing with the adjusted balance, and ending with

the balance you would expect to see on the bank statement at 31 December

Year 9.

(c) State the balance of cash at bank you would show on the balance sheet of

Paula Kennet at 31 December Year 9.



Solution
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(a) Cash at bank
£ £
Balance b/d 5,673 Rent 45
Debtor 184 Insurance 132
Wages 2,212
Bank charges 236
Bank interest 98
Balance c/d 3,134
5,857 5,857
Balance b/d 3,134
(b) Statement of reconciliation: 31 December Year 9

Adjusted cash book balance
Deposit not recorded

Cheqgues not presented

Standing order paid in error

The bank statement would show, on 31
account with a balance of £1,605.

(c) The adjusted cash book balance, £3,134,

£
3,134
4,875
(1,741)
_ 186
(1,555)
50
(1,605)

December Year 9, an overdrawn

would appear as a current asset on

the balance sheet of Paula Kennet at 31 December Year 9.

Notes to the solution
1

The cash at bank account has been presented in traditional T-account form. In

practice, and particularly with the influence of software systems, other
presentations are possible. For example, one format would be similar to that
used on bank statements with a running balance, eg:

£
Balance b/d
Debtor
Rent
Insurance
Wages
Bank charges
Interest

184

Provision could also be made for cash book anal
cash book.

£ £
5,673
5,857
45 5,812
132 5,680
2,212 3,468
236 3,232
98 3,134

ysis, in the same way as for a petty
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2  The cash book adjustment deals with items that would or should have
been in the cash book had Paula Kennet been aware of them. For example,
Paula would have known that the bank would be making charges and
applying interest. But she would only know how much they were from the

statement.

The standing order of £132, on the other hand, should already have been in
the cash book. Both the amount and timing of the standing order payment
would have been authorised by Paula Kennet. Its omission from the cash book
was therefore a mistake.

3  The bank now says Paula is overdrawn by £1,605. Note what will then
happen. The bank will credit the deposit made on 30 December, £4,875.This
gives a credit balance of £3,270.

The creditor will present his cheque for payment. This will reduce the
balance to £3,084. Finally, the bank must correct its own error. £50 too
much was taken from the account on a standing order and must be
re-credited. The balance becomes £3,134 which agrees with the adjusted cash
book balance.

4 Do not get confused by references to debit and credit. Remember that if
Paula receives cheques and cash from customers, she will debit the cash at
bank account and credit her customers’ personal accounts. When the cash and
cheques are paid into the bank, the bank will debit its own bank account and
credit the current account of Paula Kennet at the bank.

‘The extended trial balance

You will recall that the purpose of a trial balance is to establish prima facie evidence of
the accuracy of the book-keeping process. Thus:

o if the trial balance balances, it suggests that things may be correct;
e if the trial balance doesn’t balance, things are definitely not correct.

Once the trial balance has balanced, the preparation of final accounts can
commence. Of course, in the real world, final accounts preparation might
commence whilst attempting to find the errors which have caused the trial balance
not to balance! However, at some point the error(s) must be located.

In an examination, when asked to prepare final accounts, the usual advice is to tick
each item in the trial balance as it is used, but to double tick the adjustments under
the trial balance so that double entry principles are maintained. For example, a trial
balance might include an accumulated provision for depreciation (credit balance of
course) £15,800. Under the trial balance it might say ‘Provide for depreciation for
the year, £1,400’.

The £1,400 must be debited to the profit and loss account as the depreciation
expense for the year. Thus it is ticked once. The £15,800 is already in the trial
balance. This is picked up (and therefore ticked) and added to the 41,400
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adjustment which receives its second tick. This gives an accumulated provision for
depreciation at the end of the year amounting to £17,200, and this is deducted
from the cost of the asset on the balance sheet to give the net book value.

What actually happens of course, is that a depreciation expense account is opened
and debited with £1,400.To complete the double entry, the accumulated provision
for depreciation account, which according to the trial balance already has a credit
balance of (15,800, is also credited with the £1,400, so increasing the credit
balance to £17,200.

An extended trial balance shows how such adjustments are made to the original
balanced trial balance. This produces an adjusted trial balance, with the balances
allocated between the income statement (profit and loss account) and the balance
sheet.

You are advised to study carefully the example given at @e end of this chapter.

Accruals and prepayments

The ‘matching principle’ means that the expenses set against sales revenue must be
appropriate to the accounting period for which the sales revenue is reported. For
example, when a profit and loss account is prepared for the year ended 31 March
Year 8, the gross profit from the sales dispatched and invoiced in that year must be
reduced by the expenses properly chargeable to that year. The expenses paid in cash
are not an appropriate charge against the gross profit. They must be adjusted by accruals
and prepayments.

EXAMPLE 3

J Carson is a sole trader whose financial year ends on 31 March. During the year
ended 31 March Year 4, his first year of trading, he paid insurance premiums
amounting to £868. At 31 March Year 4, insurance premiums were prepaid by
£136.

Required

Prepare the insurance account in the ledger of J Carson for the year ended
31 March Year 4.

Solution
Insurance
£ £
Mar 31 Year 4 Balance b/d 868 Mar 31 Year 4 Balance c/d 136
. Mar 31 Year 4 Profit and loss 732
@ 868

Apr 1 Year 4 Balance b/d 136
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Notes to the solution

1 The £868 is a balance at 31 March Year 4 because payments would have been
made by cash earlier in the financial year, and the account would have been
balanced for trial balance purposes.

2 A prepayment is always a debit balance on the expense account. In book-
keeping terms the debit and credit are on the same account. The pre-
payment is inserted as a credit and brought down on the debit side of the
account. The 136 debit balance then appears as a current asset on the
balance sheet at 31 March Year 4.

3 Analternative (and acceptable) approach would be to open a separate account
for prepaid insurance. The solution would then be:

Insurance
A £ £
Mar 31 Year 4 Balance b/d 868 Mar 31 Year 4 Prepaid insurance 136
Mar 31 Year 4 Profit and loss @
868 @

Prepaid insurance

£
Mar 31 Year 4 Insurance account 136

In this illustration, the amount of insurance prepaid was given as £136. At Second
Level, however, the examiner may expect a candidate to calculate the prepayment or accrual
before making the necessary adjustments in the ledger accounts.

EXAMPLE 4

Roseanne Croxford is a sole trader whose financial year ends on 30 September.
On 1 October Year 7, prepaid rent on her business premises amounted to £180.
Under the terms of her agreement with her landlord, the monthly rent was
increased from £180 to £195 with effect from 1 January Year 8. Roseanne’s cash
book showed that cheques drawn in favour of her landlord during the year ended
30 September Year 8, totalled £1,725.

Required
Prepare the rent account in the ledger of Roseanne Croxford, for the year ended
30 September Year 8.

Solution
Rent
£ £
Oct 1 Year 7 Balance b/d 180 Sept 30 Year 8 Profit and loss 2,295
Sept 30 Year 8 Bank 1,725
Sept 30 Year 8 Balance c/d 390
Oct 1 Year 8 Balance b/d 390



